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Outcome 1 - Adding Decimals

19-62 3951 56-24

+ 738 823 . 981
2863 5 6753 83-42

& + 529 +34-82 = +19-68
52.57 73-24 8 9275

% + 68-26 8 + 1673 + 2624

Outcome 3 - Multiplication of Decimals
by a Single Digit

& D563 & 487 s 9867
x 2 x 3 x B

4 047 5 689 & 3762
X 6 x 4 x 9

Z 5645 B 6328 Q 4679
x 8 x7 x 6

Homework 5

Level .

Outcome 2 - Subtracting Decimals i
17-63 25-16 42.37
» 825 . - 714 928
32-46 _5 7861 62-35
& - 652 - 52:93 & - 4318
5873 43-26 96-89
; - 3344 a - 3845 a - 47-39

Outcome 4 - Division of Decimals
by a Single Digit

& 2[5 3[Te86
o 4[B7 & 5[5
5 8[78% g 96867
z o896 g 7[4662
8 oi5% 4o 8[12508
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